Ay T AEacigs fHYH v wr am . 6.  National Rural Livelihood Mission’ has been

(1) FUHT STTER s - renamed as :
. ' 1) * Pradhan Mantri Awaas Yojana
HEEEIRE R e Br) (1)
@ B (2) + Deendayal Antyodaya Yojana
3) { ) (3) Annapurna-
(4)  WHA AW TS A (4) Pradhan Mantri Gram Sadak Yojana
(5) S I AT 9w (5) Not attempted

NGAK ﬁ‘mmﬁaﬂq'ﬁﬁgﬁﬂmw%? 7. ‘International Kite Festival’ is celebrated
every year in Gujarat on which day ?

a1 m (1)  14th December
(@ 1479 (2) 14th November
@) 14wl - (3)  14th February
4) 14 SFEd (4)  14th January
(5) IW I < =R (5) Not attempted

e 1 @S- T F e S aegm €, | 8- Which one of the following is India’s Central
’ banking institution, which controls the

Sl R T T Hfeh i i e w 2 monetary policy of the Indian rupee ?
(1) R W2 S (SBI) (1) State Bank of India (SBI)
2) e ol S (RBI) (2) Reserve Bank of India (RBI)
(3) fa<ia dan fawm (DFS) (3 ’(II‘;llssiDepartment of Financial Services
(-4) T B B SFRES (4) National Bank for Financing
(NABFID) Infrastructure and Development
(5) T T < TRd (NABFID)
(5) Not attempted
). TEMEIR % SiEd A @ 2
(1) 25 97 ¥fd &R 9. What is the average salinity of an ocean ?

(1) 25 parts per thousand
@ 20 m o B (2) 75 parts per thousand
: (3) 20 parts per thousand

4) 35 WM 9fd gSR
4) e (4) 35 parts per thousand
(5) 3B =T ¢ (5) Not attempted

(2) 75 WM 9id B9

. n 0 7
0. frafafead 3 & ura % siftm ge woe wF 97 10. Who among the following was the last Mughal

(1) TEIGLIE S Emperor of India ?
2) mE (1) Bahadur Shah Zafar
a) . (2) Aurangzeb
@) . (3) Akbar
Ter . (4) Jahangir
(5) 3SW T & e (5)  Not attempted

NAVH /G4 % B o f0 warTe1 / SPACE FOR ROUGH WORK Page 3
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i State/Union Territory is known asg
SH-91 : i 'yama | 11. Which ry
11. 1 T Sheentad T ¢ A e’ 6

‘Crown of India’ ?

R S § 2 () Delhi

(1) feet (2) Himachal Pradesh

(2 fem=awRw (3) Jammu & Kashmir

(3) ¥ T R (4)  Punjab

@) U= (5) Not attempted

(5) W T Ew .

12. Which two States/Union Territories among
v o ‘ following share a common High Court ?

12. Frafafed 3 i Q ol Smwfaa w1 e folowing

3= A §2? (1) Delhi and Haryana

. 2 Bihar and Jharkhand
(1) feeeh oiR wfamn () Bih ;
fRR v " (3) Rajasthan and Gujarat

I . (4)  Punjab and Haryana®

G) R I (5)  Not attempted

(4) U 3R i -

5), I &

13. In a Gram Panchayat, what are the elected
members called ?
13.  7m Yer ¥ fraifen wow w1 wm we s 2 (1) Councillors
o wk (:2)’) :lard Meml:ers (Panch)
) h
2) = W™ (49) . “pane
] (4) - Secretary
@) wE. (5)  Not attempted
(@) wfEm
(5) SWE T ERA 14. What percent of oxXygen is present in the
atmosphere ?
14. IgHed H A= F Fe han Tk &2 1) 71%
1) 71% @ 78%
2) 78% B) 21%
B) 21%- 4) 3%
4 3% (5) Not attempted
(5) I & =R
1S. In which year was the 7th g i
B i e o = - Sndlicialo conomic Census
(1) 2019 (2019
(2) 2024 (2) 2021
() 2018 (3) 2018
(4) 2029 (4) 2022
(5) S By ey (5)  Not attempteq
GI N
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16. o= . BT § A a8 Fae wig @ 21| 16. Tiger is a because it only eats
1) A meat. |
@) & Gasaiuor
@) watER, (3 Omnivore
(4w (4) Cattle
(5) W T A AR (5) Not attempted
17. frfafed & ¥ < @ o ﬁ'q’ e T &2 | 17, Identify the non-biodegradable item from the
(1) =S following : '
2) Ffew & (1) Paper
3) = (2) Tin cans
(4) FAHHIQ (8) Wood
6) R (4) Woollen clothes
. (5) Not attempted
18;. Frfaran = W RAE 18. Match the following :
I(I=Q) 1 (v ) I(Objects) II (Materials)
(a) M- @) e (@) Shoes (i)  Paper
b) E- ii) T (b) Table (i) Steel
(©) (iii) =HEIA (c) Notebook (iii) Leather
(d (iv) Rty (@ Tumbler (iv) Wood
e fashed 1 =97 ST | Choose the correct option.
(1)  (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii) (1) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
@ (a-@), ‘bg)‘ ‘E‘V’) ‘fc’) ‘2)’ ‘(dd’) ‘(‘Vl; @ @i, ()G, (©)-6), [@)-Gv)
a)-(m), = , -1, - . . o)
/(f; :a;-iiv)), (‘b)_ i o, @ @) (e, (5, 0, (@)-(i
5 s @ (@-v), (b)-(i), (c)-(ii), (d)-()
(5) Not attempted
10. @reH < AT F uimal v Frefafaa 3 9 fegent/
frr B HTETF 2 19. For th'e process qf rusting of Iron, the presence
. of which is required ?
(1) W Sied (1) Water only
(2) e SRS _ (2) Oxygen only
(3) e SR SRS < (3) Water and Oxygen both
4) FHaddd (4)  Oil only
(5) IR T <A1 =med (5)  Not attempted
TNA' H/ G4 TG Bt & feTC T2met / SPACE FOR ROUGH WORK Page 5
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20. Ty=fofEd § | B o T I 761 £ 2 20. S;:,le;:tl 1thf.: no.n-communicable disease from
(1) =Y ;1‘;/ ODO.Wlljnz‘:’ .
iabetes
@ & . (2) Cholera
3) B A (ﬁﬁﬂ i) (3) Chicken pox
(4) qafeen (&) Tub losi
5w | (4) uberculosis
( (5 Not attempted
21. frefofed § § - tdamifes €2
R By - i 21. Which of the following is an antibiotic ?
1)  Sodium bicarbonate - =
@) R ‘ -
Q) 5 - (2) Streptpp&lqlrn
4 e 3) Alcoho'l'
5) R (9 Seast,
(5)  Not attempted
22. HeW-1H & T el & we iy &
FT FH tqm ml fegm 22. Match strl.}ctur.es given in Column-I with
AT Y functions given in Column-II.
@ - () i T Column-I Column-II
b) e (i) - (@) Stomata (i) Absorption of water
(€ walH (iil) w9 1 9feeT (b)  Xylem: (ii) Transpiration
% ‘h'anE (FRATHPS (iv) | et =1 Thiae (6}  Root hairs (iii) Transport of food
fasey *m"l EnC ﬁﬁ'ﬁq | (d  Phloem (iv) Transport of water
dW (a)-(g), (b)-(iy), (0)-(i), (d)-(iii) Choose the correct option.
(2) (@)-(1), (b)-(i), (c)-(ii), (d)-(iv) () (@)-(id), (b)-(v), (0)-(3), (d)- (i)
(4) (@)-(0), (0)-(id, (c)-(iv), (d)-(iii) @) (@)-(i), (b)-(i), ()-(ii), (d)-(iv)
ES; gﬂ(gﬁ (g);(ui), (©)-(i), (d)-(iv) @) (a)-), (b)-(ii), (¢)-(iv), (d)-(iii)
e & @-0), (b)-(id), (0)-(i), (d)-(iv)
23. T geN ST FreAfafian # 9 g o T2 o Rotatempred
1) Td | | 2. :
(@) TR A T1h © dough of bread rises because of -
(1) Kneading
B)  THR (=) Hifvmred # ofg ey Q- (2)  Salting
@) WA foed % o ) Growth of yeast
st cells
(5) SWEH 1 ==y (4)  Fine grinding
S
24. Tl frad g 2 P Notattempreg
(1) femy 24. Malaria is ¢ d by -
@) oy (1) Bacte:i‘:e ik
(3) T (2)  Virus
@) RS ~ ®)  Fungi
(S) W TE a‘n a'l'a'a (4) PI‘OtOzoa
N (5)  Not attempt d
TNAVH/ G4 T wedshas pre
Tl
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25. YK 1 GE9 AR YA *1 qvenew Frafafag | 25.  Advance sunrise and delayed sunset is
4 9 fras SRS & 2 . because of the phenomenon of :
(1) YR Yo (ffsa gvE) o (1)  Scattering of light (Tyndall Effect)
(2)  WRIST A aqug?ﬁ'q ATqEA (2) Atmospheric Refraction of light
3) 'q:Uf 3Tl wWads (3) Total Internal Reflection
(4) TEEISA a-@-qg;ﬁ-q qEa (4) Atmospheric Reflection of light
(5) W™ T < 9ed (5) Not attempted
26. TS | IMEY s\ H & o I9gE &l qran g1 | 26.  Pure gold is not suitable for making jewellery.
¢ It is alloyed with or to
WW%S@WW%WW‘— make it i,lard for making ornaments.
A TN et STt 1 (1) Silver, Aluminium
(1) ?ﬂ.?f[, :,3 (2) Zinc, Silver
(@ o =0 (3)  Silver, Copper
) e, e (4) Aluminium, Copper
(4) T, atEs (5) Not attempted
(5) W TG <1 AR
27. Which one of the following does not belong to
27. Trafafea § 9 =1 @1 9 9qg § s 72 the group ?
(1) feudgen (HawE) =~ (1)  Snow leopard
) T (2) Deer
(3) a () Yak
(4) TEdE SR (4) Mountain goat
(5) W el <1 9Rd (5) Not attempted
28. @ fodl fieq @ TR 18 W&d T TSRt LA TH | 28. When a white light passes through a prism, a
ey fe@r Sar ¥ e 1 & v # gaitus spectrum is observed. Which colour of light
ﬁ A E? b.ends most ?
(1) @ (1) Red
@ dre (2) Yellow
3) e (3) B?ue
@) FE_ (4) Violet.
(5) W = & = (5)  Not attempted
20. T @R T T 75 B 9y, fr CE) wE] §, | 29- Sho.rt plants with green and tender stem
frfafad 3 4 feg 400 % siata ¥ ilfa'vmg few branches belong to the category
(1) M- (1) Herbs
(2) T4, (2) Trees
3) @ (3)  Shrubs
(4) AR A~ " (4) Climbers
(5) S T < =R (5) Not attempted
TNAVH/ G4 %P1 & feTE Tare / SPACE FOR ROUGH WORK Page 7
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30. WA /3 € S AR TR ¥ wqw | 30. The blood has _____ which fight against
WW@[%WW o E germs that may enter our body.
(1) ¥3d & Hioeed =#t)  White blood Carpuscles
2) m (2) Platelets
(3) et T HivrE (3)  Red blood Carpuscles
4) ferreifas (4) Haemoglobin
(5) SR & 2 Ty (5) Not attempted
31. [+ @Tmaﬁﬁlﬁﬁﬁﬁ 13RI feum ) i | 31+ Two statements are given, followed by two
Wmﬁwm@ﬁammauﬁﬁ conclusions I and II. Assuming the
Rt @ i 7 v & B ) 7 statements to be true even if they seem to be
, ol =X fm % at vari
fram -~ . ariance from the commonly known facts,
gl'sﬁd 7$9J=ﬁ meﬁmﬁﬁmﬂ decide which of the conclusions logically
/e € : follows/follow from the given statements ?
HUT T T el # @% Statements : Some flowers are roses.
EERGICRSIGR S _ Some roses are red.
frreae L 94t T C IR Conclusions: I All roses are flowers.
I ISwadams y o Some flowers
. are red.
(1) %9 e 1 e (1) Only conclusion I follows.
) e frery I Fem £ (2)  Only conclusion II follows.
(3)  eFed 1 ik 11 Sy e §) (8)  Both conclusions I and IT follow.
Vg)r\ :?:[ qﬁgi[ IsikT A1 ﬁ%‘vﬂ Y g; Eeither conclusion I nor II follows.
R ot attempted
Ll
32, . IN LA VAR ]| .
T fftem U § PHYSICS’ 1 RIAUKEU’ 32. In.a certain code language ‘PHYSICS’ is
feren et &, 9 BloLOGY: %1 et v 3 it as RIAUKEU'. How will BIOLOGY' b
feran ST 2 M written in that code ? " .
(1) DKQMOIB (1) DKQMQIB
—21" DKQNQIA (2)  DKQNQIA
8; glégoglA (3)  DKQOQJA
PQJB (4) DKQPQUB
() IR T W= (5) NotQattempted
33. i fqar 4 K :
T R i}gm 1A TR 30 e % A | 33 every secon fourth §
= - WEIT{ g “"L@i@w | Sundays are holidays in S iodays and an
o 5 T P dhrdfcr §2 beginning on Sunday, ghe S Month
L/(JM 23 faq working days are there ir’x thatnml;otv}: ;nany
@) 21 fmo 2 (1)  23days iy
(3) 24 fET-T i’H’\ (2) 21 days
4 22fF BRI CERET B) 24 days
T GF @ (5) Not attempted
¥ P & 10 221 / SPACE FOR ROUGH WORK
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34. T 90 HieX qd &1 R wada1 §1 d@ @ 9%

35.

36.

60 HIX H3 afik=m # IR T €1 39% 9 ag T
HSH 40 TR Fedl §1 o7 W aRfiwk faig @
ferat ¥ e for feen & %2

(1) 30 T, SW
(2) 40 iR, SW-uf¥=m

50 HiX, IW-7d
4) 60 Hiew, g
(5) SR < =R
faem =1 === e
(1) dfEa-
(2) HaH.
B L.

HEEH-.
(5) WAL AR

T IRER % 99 959 P, ‘Q’, R’, S’ R T’ 1 P’
IR R’ ME-ME B T, ‘Q HAR/AMIRI S, T
TR Q, R BTl P, S ¥ ol Wy
@ e? ‘

35.

4[] H7

34. Kunal walks 90 metres towards East. From

there he walks 60 metres back towards West.
Then he turns right and walks 40 metres.
How far and in which direction is he from his
starting point ?

(1) 30 metres, North

(2) 40 metres, North-West
(3) 50 metres, North-East
(4) 60 metres, East

(5) Not attempted

Find the odd one out.

(}) Pencil

(2) Pen

(3) Eraser

(4) Book

(5) Not attempted

36. P, ‘Q’, R’ ‘S’and T’ are five persons of a family.

P’ and ‘R’ are brothers. ‘I’ is uncle of ‘Q’. ‘S’
is the son of I’. ‘Q’is the sister of ‘R’. How is
‘P’ related to S’ ?

A __\S..r (1) . Brother
(1) e E — Q-—L_' & * (2) Father
(2) fom ' (3)' Cousin
A3 E%IT/ qﬁ'{l g1 (4) Uncle
(4) ETE/HEE (5) Not attempted
(5) S A < =R
37. Find the missing term in the series.
37. A sl § g« 98 A Hie | 4,27,16,125,36, _2 64,729
4,27, 16, 125,36, _2_, 64,729 1y 121
(1) 121 ' 2" 216
2) 3216
3) 343 (3 343
@) 512 4) 512
(5) I TR A =R (5)  Notattempted
TNAVH /G4
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38, vav=-g F 9 & TS W Sl wohR et
g e R R A

siferanfe : et
(i)""f’?a‘;g‘“-
) I EE
i /g) A : WA
(4 Su-foees : foes
(5) ~ S TE [ e

39. A,B,C,D, E T F IW & 3N g Tk T 4f §

TS F, A Tavass T R i A 9w ain
TR H E 3R A’ ok B i w ‘T, A’ H
3 =8 T ¥ B F % W R s w2

(1) F

@Dy gy
38) ¢C
@4 E s p9 B F € un
(5) W& ==

40. qﬁmmtwﬁm@amﬁﬁmw
gl WSt & 34 FAoH o a9 =1y

A EEERE I

mﬁm@amwwwfﬁwam

E L p | 0O ¢

1 2 3 4 5 ¢

(1) 2,1,54,3,6 —
13,5,2,4,6,1 ?oLXCE

) 3,52,6,4,1 ¢\

@) 3,450926 M -

. ) - ’ ’1 39
41 T T ¥, ol 9 Hen oI s 9 b 4
4 : 5 % I9E & 9 100 BN et B 3t &

38.

39.

40.

41.

Choose the pair of words in which the wordg
are related in the same way as in the givep
pair of words.

Bachelor : Spinster

(17~ Lady: Woman

(2) Horse : Mare
(3) Nun : Sister

(4)  Tutor : Teacher
(5)  Not attempted

A, B, C, D, E and F are standing in a row facing
North not necessarily in the same order. ‘E’
and F’ are in the centre, and ‘A’ and B’ are at
the ends. ‘C’ is standing on the immediate

left of ‘A’. Who is standing on the immediate
right of B’ ?

1) F
(2 D
3 C
4 E
(S)

Not attempted

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly will form a meaningful word.

E L P I (0] C
L 52ca8y5 4 9 5 .6
1) 2,1,5,4,3,6
2 3,5,2, 4,6,1
@) 3,52,6,4.1
4 3,4,52,6,1
(5)  Not attempted

0 of the number of boys to

3 \ 2Irls is 4 1 5. When 100 girl
TE M 6 - 7 B 3 TR & fora o 2 leave the school; the ratio becomes 6 : 7 {8{1;“5,
(1) 1800 a ([ Doys are there in the school 3~ -
2 1500 I () 1800° o
“B 100 Ly . Exe=De 2 1s00
(9" 1000 __’—/k 55 (3) 1200
e . X U 4 1000
qﬁh{a'é“\* 6 (5)  Not attempted
42. A (@+b) F10% = (a_p, H50%, Ma:bi:
) 6 =(a—b) o,Ma:b¥: | 4o, IflO%of(a+b)=50%of(a_b)’ thena: b iq
@ 5:5 2= lev sy (1) 1:2 : g
(3) 2:3 k2 0 @ 5:2
| = S22 B 2:3
i 312 = @ 3
| ' 2
(5) T = (5)  Not attempteq
TNAVH /G4

6 BT & 10 verre SPACE FOR ROUGH WORK

(a—rﬁ% ’f = (q -L)XS‘r 8'7]: ARVIET @ C) Page 10
= Su- 1S 3 Y SR

a+h = 54 ié s 5" o ﬁ | 7 z
th = =g "alL 5ig L IX2.91

B RELS

43. ACHE

(1)
@

“4)
(5)

50 4T
55 @]

44.

(1)

(1)

3)

(4)

)
TNAVH /G4
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43. afc e fer 10 991 § g A 9 ], D WER SIS | 43, Ifa sum becomes its double in 10 years, then

1 aiffes T : the annual rate of simple interest is :
(1) 8% I/N?L . (1) 8%
(2) 7o | (2) 5%
10% 3)  10%
4 20% : 4) 20%
(5) S SR (5) Not attempted
44. 50 i = 38 %1 aﬁ;é} E|§. IS 45 T4 | 44, The average of 50 numbers is 38. If two
55 i &1 <A1 ST @t <rent o= Semsdl &1 sivgg 41 numbers 45 and 55 are excluded, then what
B ? will be the average of the remaining
(1) 365 s; L’ numbers ? ]
2 37 ‘“ (1) 36.5
14 2 =
3375 /33 @ a7
) 37.52 3p>2—0@ 375
(5) W TE < 9Rd ;; 4) 37.52

(5) Not attempted
45, TEAfw TE R A 15 I H W R AHa R | HE
ﬁmsﬁmﬁaﬁwﬁﬁ 20 fc7 o € ST 3HHT | 45. A man can do a job in 15 days. His father

I3 3Q 25 feg | I{iﬂq:—(mmJ—%l A fre 11 ;askgs 20 Hdaysl. and .Iﬁitshsor; lf(inishes it1 itn

=—=———u X . ays. How long will they take to complete

A, 39 3:'[235[ T & H o w9 i1 7 & o the job if they all work together ? 95

() efaa=a ~ (1) less than 6 days (s 20,

- s /

@2 Refa > zl (2) - exactly 6 days 7 Y &
W 6.4 faa "LT-?" (3) approximately 6.4 days —,

@4 7 - E’ , e C—— (4) 7days JE il

(5) SR ERT | ¥ =7 % ) L(S) Not attempted

R

1y
46. 8,000 Fi UM 10% Mt =shefg = W fohad 4€,£ In how many years will a sum of ¥ 8,000 at
aﬁ'q?g 261 g}'@n’qxﬁ Wmﬁﬁlmwﬁﬁ 10% per annum compound interest,

A compounded semi-annually become ¥ 9,261 ?

TAAME?
L
(1) ll - . (1) 3 years
3
1
1 1 4 (2) 15 years
2
1 ol
(3) 25 EL| ' (3) 3 years
1 g
(4) 25 EL| (4) 5 Years
(5) SR I A =ed (5) Not attempted
TNAVH /G4 % w1t % fTU Z=met / SPACE FOR ROUGH WORK Page 11
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47. < fafus SEme ®1L.C.M. 120 ¥ fr e
# 4 1 W HeA T A Femshi w1 u.C.F. T A

el ?
1y 8
@ 12
@) 24
4T 35
(5) SWTE I =R
(9
48. T 14 x 627 + 1089 = x3 + 141 & W x H
THR: 3D i
(1) 125 {7 37 973
v, @ osE 93 v4 57
,)j/ 3) 25 2971 g9
o1 ,/(4‘]/\ S . 797
X_~ (5) ST I ==y w2’

igt\ (1) 2:3:4 1
y 2 4:3:2 U9 = K (M1
\,_'; B) 4:3:6 M 4
/ M 6:4:3 '\-1%(
¥
L\)—»L (5) W AE < =R L}%
2 ) L5\0. %28.80 fd fer.am. At iR 2 22.80 iy foram. oy
Wma@wﬁﬁaﬁaﬁmﬁmm?ﬂ o
=" %25.00 Wi .. & w2 e 22
ks 1) "1:3 0%.5° 2.4
2:3 !
@) 3:4 2¢-2°
4 5:3 ,
(5) W TE & = L\*Z 33*
% 3
SL. 3R fieo 3 A, qon o 5 A T U FTH | 51

3 I ] TR Wi ST Y, R T
STE 1 J7ft. 0 e B 1 fnAd ¥ 5§ TR

47.

48.

49.

The L.C.M. of three different numbers is 120,
Which of the following cannot be theij;
H.C.F.?

1 8

(2 12

(3 24

(4) 35

(5) Not attempted

If 14 x 627 +~ 1089 = x° + 141, then the
value of xis :

(1) 125

@ 55

(3) 25

@ S

(5) - Not attempted

The speeds of three cars are in the ratio
2:3:4. The ratio between the time taken by
these cars to cover the same distance is :

(1) 2:3:4
2 4:3:2
B) 4:3:6
4 6:4:3
(5) Not attempted

In what ratio, rice at ¥ 28.80 per kg and rice

at ¥ 22.80 per kg be mixed to get a mixture
worth X 25.20 per kg ?

(1) 1:3
2 2:3
@) 3:4
4 5:3
(5)  Not attempted

A solid‘metallic cylinder of base radius 3 cm
and belght S cm is melted to form cones, each
of height 1 cm and base radius 1 mm. The

T g o number of such cones is :
% -ﬁ g (1) 450
(1) 4sq
) 1359 (2) 1350

(3) 4509 (3) 4500

(4) 13500 (4) 13500

(5) I e (5)  Not attempted

e —
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52. A 9% 63,000 TN F T AR I fdvan) Fo

T 9T % 1,08,000 T H B 3 AR W HZERY
F oAl | afg Id F 3fd B Y TER-SER 92 B, 0

fF T FTRBITRRA T2 g (L

1 3 M **.’ga‘ .

2 4 |
r/ﬁ(‘5 |2

4 6

(5) S G <A =R

53. 3@ 4, 0, 3, 7 ¥ 9 Al 4-3iH TS-V-9G F
BII-Y-BI AW HAW: T (TAF 36 Th o) &
AT B R) - Lo
(1) 4370,4307 1
(2) 3740, 3047 —

(3) 7403,3704

L4 7430, ~3047
(5) ST TR <A ded

54. &Y 9 TH QA TR T 4,700 H T AR T69H
TOd W T 800 T foul 4fg a8 30 @@ @l

% 5,800 H I T IHH N Www@ € -

(1) 4%% s g2
/ o o ‘/\'/a

@ s5% % '

3 10% (e 2

(4)  12% 1l 1]

(5) S AL A =ed

55. U A I 4% 460 91 . T AfE THH! T,
st dre @ 15% e 8, d frer d Fema
A FAH T ? {o
(1) 15 t)b -5 1
2) 26HX
(3) 34.5THX

0 T
(5) IuLE & Awd

52.

S3.

54.

55.

67 \o ¥

§ES

A started a business with ¥ 63,000 and is
joined afterwards by B with ¥ 1,08,000. After
how many months did B join if the profits at
the end of the year are divided equally ?

(1) 3 g

@ 4 ne & /o f
@) 5 ' =
@ 6 =8

(5) Not attempted

The greatest 4-digit and the smallest 4-digit
numbers formed by the digits 4, 0, 3, 7 (each
digit used only once) are respectively :

(1) 4370, 4307
(2) 3740, 3047
(3) 7403,3704
(4) 7430, 3047
(5) Not attempted

Harish bought an old Scooter for ¥ 4,700 and
spent ¥ 800 on its repairs. If he sells the
Scooter for ¥ 5,800, his gain percent is :

(1) 47%
g

5=%
(3) 10%
4) 12%

(5) Not attempted

The area of a rectangle is 460 sq.m. If the
length is 15% more than the breadth, then
which among the following is the breadth of
the rectangle ?

(1) 15 metres

(2) 26 metres

(3) 34.5 metres

(4) 20 metres
(5) Not attempted
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59.
56. Pick out the correctly spelt word.
(1) tampestuous
(2){, tempestuous
(3) tempastuous
(4) tempestus
(5) Not attempted
57. Choose the alternative which best expresses
the given sentence into direct speech.
He told the boy not to sit there. "
L 60.
(1)  He said to the boy, “Didn’t sit here.”
~(2) _ He said to the boy, “Don’t sit there.”
/ .
(3) He said to the boy, “Didn*t sit there.”
(4)  He said to the boy, “Don’t sit here.”
(5) Not attempted
s
S8. Select the alternative which best describes | ©1-
the underlineq idiomatic expression.
You may rysp from pillar to post, but you
\:\
stand ngo chance of etting what
without hapg Work. g g at you want
(1) be Very busy
() rushin gy g
2 harassment Irections and suffer much
X
(3) gotoall pogt ©Boxeg and post offices
(4)  go to many offices 804 pogt letters
(5)  Not attempted
T IB P S|
TNAVH/ G4 TP TS R e SPACEFg

8

Choose the correct alternative to improve the
underlined part of the following sentence, .If
no improvement is required, your answer jg

(4).

You will face many defegts in life but never
let themselves be defeated .

(1)  themself defeated

yourself be defeated

e S

(3)  yourself be defeating
4) No improvement

§)

Not attempted

Fill in the blank with correct form of Verb.

Time and tide

__ for none.
(1\)_ wait ~
(2)  waited
(3) waits
(4)  waiting
() Not attempted

Pick out the part of the s
an error. If there
(4).

entence which has
1S No error, your answer is

Thg property / was divided /
(A) (B)
among the two brothe:rg; /
(C)

(1)
(2)
(3]
(4)

()

(A)
(B)
(©)
No error

Not attempted
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62. Find out the synonym of ‘proclaim’. 66. fIuTTq forg vt # ot &1 Y €9 Tl 22
(1) progress

(2) advance IR
(3) declarer @ *R
(4) license S 3) g
(5) Not attempted
(4) 9™ -
63. Pick out the antonym of the underlined word (5) ST T o 9Rd

in the following sentence.

He was afraid of losing the match.

(1)  hesitant 67. ‘9T H 0 Hrew @A § 2’ 9 HE Saed |

(2) nervous/ o (1) AfeeRY R -

(3) shaken ~ (2) wmw
(4) confident

3) HOTHRS Rl
(5) Not attempted (

(4) HdY FER

64. Rearrange the following parts of a sentence (5) SR TRl < AR
labelled as PQRS to make a meaningful
sentence.
P - optimism is essential | 68. ‘<itar gon' ameRIY % foT wAifR ST TH MK ©
Q-1tlsalscl)the (1) et
R - foundation of true progress
S - to achievement and (2) | A<
(1) QSRP _ (3 3rd
(2) PQORS @) fom-
(3] PSQR<
@ ROSP (5) SR TE T R

(5) Not attempted
69. frafafed forw fasmes & frar-formo =1 wim =

65. Choose the correct passive voice form of the TINR?
following sentence.

1
He was writing a book. (1) | =l
(1) A book is written by him.” 2 gw faere -
(2) A book was being written by me. @ = =
(3) He has written a book.
. ' . 4) R
(4) A book was being written by him. ¢
(5) Not attempted (5) SW ECieGll |5
ﬁAVH /G4 % Pt & foTE 72mst / SPACE FOR ROUGH WORK Page 15

(} Scanned with OKEN Scanner



0. ‘foareE § At eI S | T 9 ¥ | 73, ‘S ord | o SN daiteeh SuY W'%‘
wifea st 1 waifus Suge wiy-fawg € «
(1) wiforE
(1) ¥en3ad
A ()
(3) H+ErHd 8) . HEw
(4) Werolws (4 T
(5) SR
<Ted (5) W T T =T
il ﬁ‘lmaﬁﬁf%m&wﬁﬁmﬁawmﬁw
SR T g 2 74. 'SeO’ ¥ T Gelif Sg watEret v -
1) FIRTwE (1) A
@ T ~
MR ! 2 TS
(3) @,ﬁmaﬂtmﬁmﬂﬁaﬂmn
(3) e
4) ﬁmmamﬁﬂﬁm?v
4 &
(5) SWAH T == ‘
(S e o
7. “mwﬁﬁmmnﬁmm”laﬁaﬁﬁa
Wit Iy oref " 75. '
( S Y T asE w g i
1) T 379 B ¥ e w6t e 0 S |
€l (1)
(2) ﬁWW’I"ﬁWﬁHWW‘THT%,W?W
SR .\ (2) <rp
(8)  TARI ST = s 3 s gk 1w sy S S
(4) ¥t AT 2 A & e g 7 @) “4) =
(5) SR T N e (5) IR T
'NA 7H/ G4 ¥ PTe! e zerrer | SPACE FOR ROUGH WORK
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mﬁgﬁﬁﬁwmm-qm

T8 fenco ST et T R o 2 2

8.

1,

g R R

) IR A e

3) ERRIEIRSIE RG]

(5) W:@’Té—'ﬂm

@awgﬁ,mamafﬂmmam

Fo fe B ?

(1) TEFe

2 Teaw

@ fer

4 THISER

(5) SR oA dmed

frefafEa wul W faur Fife

() f@mnm F gfaw 9 &1 ¥ aAfysrt Tw
TRIFRYE ¥ FH U ol IRl e el 2 |

by # 9 gfew W T

T 4 4w Ty T wE /R

() =ad (a)

() Fad (b)

B) (a) 3R (b) T
(4) A4 (a) FRAE (D)
(5) o &1 3R

i 7 gz & e F A § H-

LY

76.

77.

78.

79.

Which scheme launched recently focusses on
crop diversification and water conservation in
Haryana ?

(1)

\

Per Drop More Crop

(2) Mera Pani Meri Virasat

(3) Jal Shakti Abhiyan

(4) Pradhan Mantri Samman Yojana
(5)  Not attempted

Where is the National Academy of Custom,
Indirect Taxes and Narcotics located ?

(1)  Panchkula ¢
(2) Rohtak :

(3) Hissar

(4) Faridabad

(5) Not attempted

Consider the following statements :

(a) A Police Range in Haryana is headed by
an officer not below the rank of
Additional Director General.

() There are five Police Ranges in

Haryana.

Which of the above statement/s is/are
correct ?

(1) (a)only

() (b)only »

(3) Both (a)and (b)

(4)  Neither (a) nor (b)
(5) Not attempted

In terms of population size, Haryana comes
at what rank in India ?

(1) 16
(1) 16 i
@ 17
(3) 18
K]
(4: 12 4) 19
(5) 3w = & 9red (5)  Not attempted

H/Gq

M\_/Wﬁﬁa;mwm/ SPACE FOR ROUGH WORK
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80. TR efamom =1 SR aiR sft@mon % gdwia % | 80.  Who is known as the Shakespeare of Hary,

Y H A SIS ? : and Suryakavi of Haryana ?
(1) TS ST (1) Dada Lakhmi Chand
(2) dfea wim (2) Pt. Mangeram
(3) SN (3) Banshilal
(4) wEEsI™ (4) Ramsingh Nai
(5) SWAE T TRy (5) Not attempted
81. =AM w1 walfer wre aren wrex Far 2 81. Which is the most populous city of Haryana
(1) Jzaw (1) Rohtak
(2) TEUM (2) Gurugram
(3) wiER (3) Faridabad
E4) qage (4) Panchkula
(5) W E IRy (5) Not attempted
82. FY T W forraa TReeT e R 29 82. \S?\i/tlzleztzdis? the Heritage Transport Museu
S (1) Rewari
2z ToHe (2) Gurugram
@) T (3) Kurukshetra
(4) T (4)  Karnal .
(5) ST < = (5)  Not attempted

83. mmﬁtaﬁ'mwg@w&gﬁ 83. Where is the most important Centre

e e? ‘durrie’ making located in the State ¢
Haryana ?
)., S (1)  Sonipat
R - (2)  Panipat
I (3) Sirsa
(4) Te=ed (4)  Bhiwani
(9) T e (5)  Not attempted
=% B 3 foTu 22Tel / SPACE FOR ROUGH WORK ‘m
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>

ﬁ—lﬁmmmgqpﬁﬁ _ .
B ofera FoTEll o T AR Fif T -

g -1 el - 11
@) () W
p T (i) =t a=d e
o T (iii) g
@ F v) &

) (-G, ()G, (©)-G), (@)-Gi
@ (a)-Gid), (0)-(v), (©)-6), (d)-Gi
B (-, B)-G), (©)-61), @-G)
W (@~ ©)-Gv), ©-), @-0

(5) ST <R

) &

(2 3Tl

(3) UMY

4) T

(5) S LI A1 =
6. g w1 T uelt ¥ 2

(1) vam Sheplfer

2 ww (I THE) -

(3) YRAT TRTS

(4) Temmert @A

(5) SR T & =

7. mmaaﬁﬁmgﬁmvnaﬁwa;ﬁﬁ?mm
T w7

(1)  vgifed «

(2) el FHe

Q) fufgfa=

4) <

5) e & e

84. Correctly match the Administrative Divisions

85.

86.

87.

in the List - I with the Districts included in
the List - II.

List - I List - II
(a) Faridabad (i)  Panipat
(b)  Gurugram (ii) Charkhi Dadri
(c) Rohtak (iiij Mahendragarh
(d) Karnal (iv) Nuh

Select the correct answer using the code
given below :

(1) (a)-(iv), (b)-(ii), (c)-(), (d)-(ii)
() (a)-(iii), (b)-(iv), (c)-(), (d)-(ii)
(3)  (a)-(v), (b)-(iii), (c)-(ii) (d)-(0)
(4)  (a)-(i), (b)-(iv), (c)-(), (@)-()
(5) Not attempted

In which district of Haryana is Tilyar Lake
located ?

(1) Kaithal

(2) Ambala
(3) Panipat
(4) Rohtak

(5) Not attempted

Which is the State Bird of Haryana ?
(1) Black Francolin

(2) Great Hornbill

(3) Indian Bustard

(4) Himalayan Monal

(5) Not attempted

Mata Mansa Devi temple is home to which
form of contemporary art of Haryana ?

(1) Pattachitra
(2) Worli Art

(3) Bhiti Chitra
(4) Dhokra

(5) Not attempted

Moo 3 fore e/ SPACE FOR ROUGH WORK
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88. frfafEd weMl w foaR HifsT 88. Consider the following statements :
(@) BT 3 Tl g ) e A1 (a)  Haryana has never won Ranji Trop,
(b) a2 3 S T S+ (b) | Haryana has won Irani Trophy once,
Wﬁ@ﬁ?m/ﬁwvﬁ%/%? Whlcht ;Jf the above statement/s iS/ax
(1) & (a) cﬁmia) onl
(2, e (b) ( b 1y
B)  (a) 3R (b) Az
(b) (3) Both (a)and (b)
(4 =@ @ IRIAE (b) (4)  Neither (a) nor (b)
(5) ST I = (5) Not attempted
8 . 3 ‘" . ' <
9 Eﬁ'*JIT;Lﬁ id o el it werews ! @ T | 89, Where in Haryana ‘Geeta Jayanti Mahots:
SIGIE is celebrated every year ?
(1) F=F ~ (1) Kurukshetra
Q) YNgTe (2)  Surajkund
(3) TfiSk (3) Pinjore -
) YR 4) Sultanpur
(5) SR = (5) Not attempted
90. : 3 o S T ) 90. How many Lok Sabha constituencies are the
1) o et in Haryana ?
(2 10 (1) 9
) 11 2) 10
“4) 12 (3) 11
(5) SWAH T == | 4 12
‘ (S)  Not attempted
91. ﬁm%%ﬁ@af@a@ﬁﬁﬁ%ﬁzozoﬁ
S 9 Tl T R ST o1 2 91.  Who among the followin
: ? - g players fi H
(1) g fiz hon Major Dhyan Chand Khel Ratna Awe
2) TR - -
(1)  Vijender Singh
(3) < Hfew (2)  Vinesh Phogat
(4) e FAR, (3)  Deepa Malik
(5) IWTE < TR (4)  Sushil Kumar
G N
92. fr=fafed 4 ¥ it w1 Fra fen ToeE % R
Y T Fre T8 e € 2 92. Which one of the followi
Ing districts of Haryan
; ;) o ?10)33 nsoi: share border with Raj:si}(:an ?
2 3 sa
(2)  Rohtak
3
Ll )  Bhiwani
(4) :zfjm (4) Mahendragarh
(5) TR <1 =Red (5)  Not attempted
TNAVH/ G4 7% ®1d & fo10 3211e1 / SPACE FOR ROUGH WORK r—y

(} Scanned with OKEN Scanner



93. STl I TS, Forem efamom 9t qof g & wa |

93. The reorganisation of Punjab that established
Tenfya foan, for o gam 2 Haryana as a full-fledged State, took place in
(1) 1961 which year ?
(2) 1962 (1) 1961
3) 1965 (2) 1962
(4) 1966 (3) 1965
(5) S| TE T AR (4) 1966
(5) Not attempted
94. aREmwn # forg o ' Sreiy sftamon wm sea A
%ﬁﬂg ot ? 94. In which year was “Deenbandhu Haryana
(1) 2015-16 AR Gram Uday Yojana” launched in Haryana ?
(2) 2017-18* (1) 2015-16
(3) 2011-12 (2) 2017-18
4) 2019- %0 (3) 2011-12
(5) ST TR < =Rd 4) 2019-20
- i et e N (5) Not attempted
95. YRd | U HIA Wih A i ?
(1) 9Fgd 95. The only surviving steam Loco Shed in India
(2) 3T & Paniat
e . Panipa
(3) (2) Ambala
(4) S g'.l 7 (3) Sonipat
(5) ST & =R (4) Rewari
R N PSRN (5) Not attempted
96. WA TANHATE T b .
1 F&l TaiAa forat st 1857 ¥ Sfiel & W I8 96. Where did Rao Tularam, along with Rao Gopal
faa? Dev and Rao Dhan Singh organise the Ahirs
1) WW( and fought against the British in 1857 ?
(1) Nasibpur fort
(2) S (2) Ambala
(3) FH (3) Jhajjar
(4) TEa (4) Rohtak
(5) =W Rkl =med (5) Not attempted
97, - =R e e e %7 97. Where is Chor Gumbad situated ?
(1) qddal (1) Palwal
2) T (g) Gm"ugra;n
(3) L TUHE I (3) Faridaba
@) el — (4) Narnaul
(5) Not attempted
(5) <t & e
TNAVH Ga ——— ¢ @ & fre Tt / SPACE FOR ROUGH WORK Page 21
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Consider the following statements about Grogg

93. T T SR I (S Faid frfefan | 98- State Domestic Product (GSDP) :
R A | (a) GSDP of Haryana is less than that of
Ja) T = Seaed, 4o %sﬁmﬁﬁﬁm Punjab.
Er | o () GSDP of Haryana is less than that of
f(b) e =t Sieaeid TSR a; Gﬁ@g"}jﬂ\ﬁ Rajasthan.
T Which of the above statement/s is/are
ﬁqﬁ;f’@aﬁ-@ﬁq_m/@w“ﬁ%/%? correct ?
(1) a9 (a) (1) (a)only
(2) FEd (b) (2)  (b)only
B) (a) 3k (b) S (3) Both (a)and (b)
) AW (a) AR (b) (4) Neither (a) nor (b)
(65) ST (5) Not attempted
.. 3 | % S e g
. (1)  Yamunanagar
W WTWN ;, ) 1\ (2) Panchkula
@ T o (3) Kurukshetra
& T (4)  Kaithal
() S (5)  Not attempted
(5) S TE & A
100 &Ramm T # fhaet () IM Y9 © 2 o ggev: r;llifrl;’a(z};psr?;?;n E;il(zf)?vﬂlage Panchayats
(1) 5000 - 5500 (1) 5000 - 5500
(2) 5500 - 6000 (2) 5500 - 6000
) 6000 -6500 ~ (3) 6000 - 6500
(4 65003 stfus (4)  more than 6500
(5) ST M awy (5) Notattempteq
R8s -00o0-
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